B.A 3rd Semester Honours Examination, 2021(CBCS)
Subject : Sociology
Paper :CC 6
Classical Sociological Thought 11

Time 3 Hours Full Marks:60

The figures in the right-hand margin indicate full marks.

Candidates are required to give their answers in their own words as far as practicable and

upload answer sheets following University rules
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1. Answer any six of the following questions. Write each answer within 200 words.
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a.

Write a short note on Simmel’s concept of sociation.
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How does Simmel distinguish between Dyad and Triad? Give suitable
examples.
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What, according to Weber, are the key tenets of Protestantism?
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What are the main characteristics of Weber’s bureaucratic Ideal Type?
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Discuss, in brief, Weber’s classification of Authority.
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Discuss, in brief, the role of elites in Pareto’s Sociology.
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g. What, according to Pareto, are the Residues?
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h. Write a short note on Pareto’s concept of Social Utility.
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2. Answer any three of the following questions. Write each answer within 400
words 3x10=30

fA=fafie it foalt 94rie Seg (9 | offefe ©eq 8oo *tg T4y
fots 3 |

a. Discuss Simmel’s Formal Sociology.
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b. Elaborate on Simmel’s notion of ‘Tragedy of Culture’.
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C. Analyze Weber’s theory of Social Action.
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d. Write an essay on Weber’s Interpretative Sociology.
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e. Discuss Pareto’s theory of Logical and Non-logical Actions.
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